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1. (a)

“Limitations of financial accounting have made the

management realise the importance of cost accounting.”

Comment.

“faciia T @ WA ¥ e @) 9 aaieT
% W & TeAW Rwr Ram fuoh @ity s

(b) Hari has started business with a fleet of 10 taxis. The
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various expenses incurred are :

Cost of éach taxi —Rs. 75,000; salary of office staff — Rs.
1,500 per mdnth; salary of garage staff — Rs. 2,000 per
month; rent of garage — Rs. 1,000 per month; Driver’s
salary (per taxi) Rs. 400 per month; Roaa tax and repairs
(per taxi) — Rs. 2,160 per annum; Insurance premium @
4% of cost per annum.
The life of a taxi is 3,00,000 km, at the end of which it is
estimated to be sold for Rs. 15,000. A taxi runs on an
average 4,000 km per month, of which 20% it runs vacant.
Petrol consumption is 9 km per litre of petrol costing Rs.
6.30 per litre. Oil and other sundry expenses amount to
Rs. 10 per 100 km. Calculate the effective cost of running
a taxi per kilometre.
I 10 30 3 R D Y IO AR B | IqD
faf =g oy & -

T IR @ @ 75,000 so;mfmém;ﬁ
T 1,500 To ufy FET; WS =S 39T 2,000

2
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Fo i ATE; et R 1,000 Bo ¥Ry WE; FEAT H
éﬂ?(!ﬁfimﬂ)‘todaogﬁrqw;ﬂgﬁwwm

(srﬁ_rémﬁ) 2,160 To yfy o, Sy Nifaw @ v &
4% wfa

U% IR H SHaawm 3,00,000 frerdier 2, R
S § SHET 15,000 o F R Y 1 AT ¥ 1 T
T 4,000 ffto Wiy w1 ol Tt ¥ R 20%
& @l Tod )O3 @ @ew 9 e Wiy diex
¢ Rreat arm 6.30 o Ry X ¥ AW @ ey
fafeer =53 10 %o iy 100 fmfro wed &

Th S & R B uy Refo @ ol
e |

10
Or (mar)
(a) Distinguish between ‘cost’, ‘expense’, and ‘loss’.
W, = we wh § e @iy 5

() Y & Co. undertook a contract for Rs. 15,00,000 on an

arrangement that 80% of the value of work done ag certified

by the architects of the contractee, should be paid

immediately and the remaining 20% be retained unti] the

contract is completed.

In 2014 the amounts expended were - Mﬂtt‘rialq R
~ilals Rs.

1,80,000; wages Rs. 1,70,000; carriage Rs. 6 000; cart.
» M 8Rc

Rs. 1,000; sundry expenses Rs. 3,000. The work w
as

3
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certified for Rs. 3,75,000 and 80% of this was paid ag
agreed.

In 2015, the amounts expended were : Materials Rs.
2,20,000; wages Rs. 2,30,000; carriage Rs. 23,000; cartage
Rs. 2,000; sundry expenses Rs. 4,000. Three-fourths of
the contract was certified as done on 31 December and
80% of it received accordingly. The value of work in
progress uncertified was ascertained at Rs. 20,000.
In 2016, the amounts expended were : Materials Rs.
1,26,000; Wages Rs. 1,70,000; calltage Rs. 6,000; sundry
expenses Rs. 3,000 and on 30 June the whole contract
was completed.
Show the Contract Account and also the Contractee’s
Account as would appear for each of years in the books
of the contractor assuming that balance due to him was
received on completion of the contract.
Y & Co. ¥ 15,00,000 To & e e~ fordm | sqaean
Tg 4 5 gof fhg &, St 3o & aRgeR arr
I B ¥, % TR T 80% YA g S
T AT 20% AT T B qF JehT A4 |
2014 ¥ =y &1 WA URT & : | 1,80,000 Fo;
TEU 1,70,000 Fo; TS 6,000 Fo; WIET 1,000 To,
fafs = 3,000 To | 3,75,000 To & HE yHIRE

4

fhair T e Sy 809 YA, 97 9t & SIAR, BT
fear )

2015 F =9 Y W iy o - el So 2,20,000;
Tt B0 2,30,000; WIET Fo 23,000; gaTs o 2,000;
faferer =51 B0 4,000. I F q-dreE 7T 31
ﬁawa?rwfganwﬁa?rwwww%
® TN T mar) sy oRees § @ o
20,000 FT FreiRa gom |

2016 ®, §OEA To 1,26,000; Fgl Fo 1,70,000; AT
To 6,000; fafer =g o 3,000 7@ 30 T B AT
Q@ #

FITH GraT A I @ Raww S
TE HER H TR ¥ 9 ¥ am, g7 W g
foh IqN TG A FITY [ 81 W Iq II<T &
T 10

2. (a) Whatis absorption of overheads? Explain briefly methods

for absorption of Office and Administrative overheads.
SUREEl HT SEIMETT T BT 27 HATad qar
SyTaRE SURe! & ST @ Rt @) dhr §
quEd | 5
(b) The total overhead expenses of a factory are Rs. 4,46,380.
Taking into account the normal working of the factory,
overhead cost was recovered in production at Rs. 1.25
per hour. The actual hours worked were 2,93,104. How
would you proceed to close the books of accounts, assumjip, g

5 PTO.
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that besides 7,800 units produced (of which 7,000 were
sold), there were 200 equivalent units in work-in- progress,
Oninvestigation, it was found that 50% of the unabsorbed
overheads were on account of increase in cost of indirect
material and indirect labour and the remaining 50% were
due to factory inefficiency. Also give the profit implication
of the method suggested.
TS HREM & HA SURTT 4,46,380 To & | HREN B
T IREWE H WA Y, SURAT AR & I
¥ 1.25 To ¥iq W & R @ g | wd B
IS T 203104 | Y W 3 TS H 69
THR 9 &1, 6 990 g2 [ 7,800 SHEAT @
S foRar (R & 7000 e ) @@ 200
T vl srd-Rffa saree § ¥ St @ amr
6 sr-vrmeiive SuRerdt &1 50% see qrnlt A
@memaﬁq@%mmwm 50%
FREE FEAT F BROT| g E R & @
ffeamd 2 & S | 10
Or (sre)
(2) What are the methods of secondary distribution of

overheads? Explain these methods briefly for reciprocal
Services,

ST & e oo 2 faferat wan §7 TRERE
TR & R Bt o e S
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®) A manufacturing unit has added a new machine to its fleet
of five existing machines. The total cost of purchase and
installation of the machine js Rs. 7,50,000. The machine
has an estimated life of 15 years and expected to realise
Rs. 30,000 as scrap at the end of its working life.
Other relevant data :
Budgeted working hours is 2,400 based on 8 hours per
day for 300 days. This includes 400 hours for _plant
maintenance. Electricity used by the machine is 15 units
per hour at a cost of Rs. 2 per unit. No current is drawn
dim’ng maintenance. The machine requires special oil for
heaﬁng which is replaced once every month at a cost of
Rs. 2,500 on each occasion. Three operators control the
operations of the entire battery of six machines and the
average wage per person is Rs. 450 per week plus 40%
fringe benefits. Estimated cost of machine maintenance
is Rs. 500 per week of 6 working days. Departmental
and general overheads allocated to the operation during
the last year were Rs. 60,000. During the current year, it
is estimated that there will be an increase of 12.5% of
this amount. No incremental overhead cost is €nvisaged
for installing the new machine. Compute the
compreﬁensive machine hour rate of Tecovery of the

running cost of the machine.

L PTO.



3138

T il S A oA die e aiHi S N ¥ o
ﬁéwﬁﬂﬁﬁ@%lwﬂ?%n@wmmaﬁqﬁ
AT 7,50,000 o Tl | 7Y HT ARG e 15 o
¢ T SER AT B D UE SEHE B6S G
30,000 To HFTIHT & |

I TR SRS :

300 R & R 8 woer WA A 2400 w0t & e B
T 400 ¥ WIS & WWE & W ¥ 9w 7}
T oot 15 gfe g e, 2 o ufy gfe @ =

AR @A B AW el wgw @ Of &) wsf=
A B R v A9y 39 ugw S ¥ o wRr

qE 2,500 To & AN Hl, YAh IR, q&al AT & |

R & qfE B @9 aReee awa € o uia

Afga Aga Jq7 450 Fo fa GwE ® AT 40%
S o R o ¥ 1 6 R o e @ R
IR Wi+ TEtEE @ ara 500 Fo ¥ | e adf
FEEE Bt arefed fawrl ar wmr Suled
60,000 o & | I ¥ T T@ af g 12.5% & I

Bl 1 e wefer 2 e e v afge SuRE
TRepfeaa & ¥

T A qREws are @ Rl e J9ie geer
e 10

(b) X is a product manufactured out of three ray, materia]s

3. (a) How will you account for and control ‘waste’ and ‘scrap’

in cost accounts? _

W @l § e ek R @ emg fe SER

AN B oM S P w6 5

(b) What do you understand by overtime premium in cost

accounts? What is the treatment of overtime and how to
 control it? The time card of a worker shows that in a normal
week of 40 hours, he worked for 52 hours at the rate of Rs

15 per hour. Taking overtime premium at 100% of time
rate, calculate the amount of gross wages.

e ol ¥ sfteavers NfEw A o ar gase &
SITTEH T ITAR FT AT ¥? SHHT Fra=or ey
YHR {6 F1Q? oF AR & v w5 ¥ gar oy
f® 40 o2 & qErT AwE ¥ T 52 T 15 wo
ufy E9e Bt W Y w1 R | sherereT Wit @ g

R EH 100% QT EY TEB! TEHT HOh A qupy

I | 10
Or (m)

(a) State the basic points in Halsey Incentive Scheme, What

are the advantages and disadvantages of the scheme?

mmméwﬁ@ﬁﬁm,w

QT & @9 SR st /w E? 5

M, N and O. Each unit of X requires 10 kg, 8 kgand 6 kg
¥ PTO,



3138

of M. N and O respectively. The re-order levels of M ay, q
N are 15,000 kg and 10,000 kg respectively while Minimyp,

level of O is 2,500 kg. The weekly production of X varjeg |

from 300 to 500 units while weekly average production is

400 units. The following additional data are given :

M N 0]
Reorder Quantity (kg) 20,000 15,000 20,000
Delivery (in weeks)
Minimum 2 4
Average 3 5 4
Maximum 4 6
Compute :

() Minimum stock level of M
(1) Maximum stock level of N
(1)) Reorder level of O

(iv) Average stock level of M.

U IR X & P i wedy qrfiei M, N @91 0

& o T ¥ X 9 vl T 4 M, N o O @
FA: 10 f6uTo, 8 fFme e 6 furo @ ST

aﬁr%uMWN%gq:aﬁ:gywm; 15,000
FHallo T 10,000 fto § ok o @ Pree €
B0 Mo ¥\ X7 wrefes wamer s00 & 500
A T R wn ¥ o o e

m4003\a—7@%|ﬁqmﬁﬁm 'aw% 3138 11
10 ’

M N o)
T oMW A (o) 20000 15000 20,000
mfef (aTe,)
et 2 4 3
St s 4
AR 4 6
TMOMET HIfRT -

() M= e = 'R

(i) N =1 atftrepam @ &R

(iii) O T Y: AR &R

(ivM &1 S @& w1 10

4. The following figures have been extracted from the Financial

Accounts of V Ltd. for the first year of operation :

Direct Material Consumption : Rs. 50,000; Productive wages :
Rs. 30,000; Factory overheads : Rs. 16,000; Administration
overheads — Rs. 7,000; Selling and distribution overheads —
Rs. 9,600; Bad debt written off— Rs. 800; Preliminary expenses
written off — Rs. 400; Legal charges — Rs. 100; Dividend
received — Rs. 1,000; Interest received on bank deposits — Rs.
200; Sales (12,000 units) Rs. 1,20,000; Closing stock of finished
goods (400 units) —Rs. 3,200; Closing stock of work-in-progress
—Rs. 2,400.

The cost accounts for the same period reveal that direct material
consumption was Rs. 56,000. FaFtory overheads is recovered

P.T.O.



at 20% on prime cost. Administration overhead isrecovered at
60 paise p& unit of production, Selling and Distfibution
overheads at 80 paise per unit sold. Prepare Profit and Loss
Account as per financial records and as per cost records. Also
reconcile the Profit as per the two records.
v fo & wduwd & T oW & fawi @l @ e
sifws o ™ €
T WRET STRT 50,000 Go; IEH ALY 30,000 To;
HREMT JIRAT 16,000 To; WIMHH SIRET 7,000 Fo;
faepa e feaor SuRerg 9,600 To; gea wor Srufwlam
800 Fo; WA =y swfwfad 400 To; i J&6 100
Bo; WIS WS 1,000 To; §a STAT T WIS AT 200 Fo;
fosra (12000 5#TE) 1,20,000 To; AR AT FT AT LF
(400 ¥%T) 3,200 To; yfersiier 1 v AT Wi 2,400
To |
S Y & I @t A v 7w R vere arl S
56,000 Fo &1 FREMT SURET T @E & 20% W

T SR | v SuRery shy s geme 60 T

& T S R, R e AR suar so 3 why 39
ﬁﬁé%mm%nﬁﬁuﬁmﬁwmﬁﬂ?

%aﬁmmﬂﬁmmlaﬁfﬁmﬁ%wﬂ
TEE | AR 15

313
i 12
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Or (G‘Na[)
(a) Distinguish between product costs and period costs.
S A F Sl A F d7 @ 5
(b) VK Works can produce 60,000 units per annum at its
optimum 100% capacity. The estimated costs of production
are: Direct Material Rs. 3 per unit; Direct Labour Rs. 2
per unit; Indirect expenses : Fixed Rs. 1,50,000 per annum,
Variable Rs. 5 per unit; Semi-Variable Rs. 50,000 per annum
upto 50% capgqity and an extra expense o’f Rs. 10,000 for
every 25% increase in capacity or part thereof. Factory
produced only against orders and not for own stock. The
management desires to ensure a profit of Rs. 1,00,000 for
the year. The production programme of the factory is :
first three months of the year — 50% of the capacity;
remaining nine months — 80% of the capacity.
Work out the average selling price at which each unit would
be quoted. Ignore selling and distribution, administration
overheads.
AT IR &Rl W & BH VK T 60,000
TE gy oo & SR B FEA B ST )
Wﬁqamﬁ%:mms'@mm%m

13 P.T.O.



811126091?{355‘?;319?“‘@:@? 1,50,000 Eo Yfy
¥ - qRadT 5 To Wiy FaE; Sre-aRad I 509,
ST G 50,000 o URY Y AR el A WAE 259
I Sad W & e § afRE W 10,000 To I fdr
| FRER § saRT R omet @ el & g,
aﬁm%mﬂﬁlwﬁw%ﬁnmmm
To Wiy a¥ T wW FHET © | FRAW B IART
WM § S & g A A & & 50%; AW A

Process  Output  %age of normal Valye of scrap

(units) loss of input  per unit (Rs.)
950 5% 2
II 840 10% 4
11 750 15% 5

Prepare three Process Accounts, Abnormal loss/gain Accounts,
Normal loss Account. 15

SAE X A iy sframett & Tere & a1e T @ St
T 31 IR B TG TaE B g T I U
:

WY & BT 80% e T W, B W NRE gy gEEml WD SRR EW
@i @ w A @ o, @ AR R o ani (m0) 260 1980 2962 7542
T R, SR SR B ARSHR AT 10 gy oy (%) 2000 3000 4000 9000

5. Product X is obtained after it passes through three distinct |
processes. Following information for week cnding 31 October
isgiven: |

Particulars Process I Process IT Process III Total |

DirectMaterial Rs.) 2600 1980 2962 7,542

Direct Wages  (Rs.) 2,000 3,000 4,000 9,000

Production Overhead (Rs.) 9,000

1,000 units at Rs. 3 each were introduced in Process I. There

Was no stock of material or work in progress at the beginning -
or at the end of the period. The output of each process passes
direct to the next process and finally to finished stock. Production
overhead cost is recovered on 100% of direct wages. Additional

information :
3138 :
4

f 3138 15

AR SIRAT (Fo) | a

gfhar I & 3 To TRy SIS B & A 1000 IHEAT JIT HS
¥ oty @ ooy ¥ o o H el & dig ®i6 A
oreffififa SaRT & a1 TS Uihar & I9ET 9
STt wfear & STt € &R iR o § QAR W @ wie
F | SR SURAT AT Tl WeEd & 100% ferr swr
3 afeftea A ¢
yRRNr  SERA W & A e @ a™
(zTd) ity A ufowear  wiw e (Bo)

I 950 5% 2
I 750 15% -
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& ufr @w, s sfva @, qeer s an

R A | 15
Or (amr)

Write notes on :

(@) Methods of apportionment of joint costs over joint products

(b) Treatment of Research and Development costs in cost

accounts

(c) Slow, Non-Moving and Obsolete materials.

= w wRa ol fifaw ]

(a) ¥IHR S W R WA B o A Rt
(b) TP FEr ¥ e oF R T & e

(c) i, srireter e et vt 15

3138
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1. (a) Aneconomy consists of two sectors— manufacturing and

3139

agriculture. To produce one unit of manufacturing output,
0.1 unit of manufacturing goods and 0.01 unit of agriculture
goods are required as input. One unit of agriculture output
requires 40 units of manufacturing goods and nil units of
agriculture goods as inputs. A unit of manufacturing goods
requires 4 man-hours of labour and a unit of agriculture
requires 100 man-hours of labour. Calculate the total labour
requirement if 50 million units of manufacturing goods and
2 million units of agriculture goods are used for final
consumption. Supposing the wage rate is Rs. 10 per man-
hour, calculate the equilibrium prices of manufacturing and
agricultural goods.
T e ¥ < @S §— ST aur i | el
SR I TH 6 IATT B ® forg ol w
0.1 3 R FY A &Y 0.01 THE F AH B €
7 STavEE ¥\ B S @ oF 3w @ g Fail
T H 40 THEEAT AR HR AW B T THE AN
HAAIEHA T A & ®q F | PEfol O @ o
B a F A W R Y B T T @ 100
2

3139

BT (Cocr I P e G,
Wﬁraﬁﬁmuﬁﬁwﬁwa&wﬁmm@n

Y TG A 2 vt e g o o & e

U T | W AR 5w e w10 w9 iy

it H Rl | 6
Or ()
(a) You are given the following transaction matrix for a two
sector economy :
Sector Sales Final Gross
I I Demand Output
Purchase . v,
I 4 3 13 20
1 5 4 3 12
- .
Input 11 5

(i) Write the technology matrix.
(i) Rewrite the new transaction matrix when the final

demand for the output of sector I increases to 23 units.

& e o & RiC ooE R A AR

AW |
Sector Sales Final Gross
I II Demand Output
Purchase
1 4 3 13 20
5 4 3 12
il .
Primary :
Hegpers . 3 PT.O.



() dEe Afve fafEg
@) 99 &F 13 SR & fog sfw @t sgaw 23
@R § T @ A aad A ® A @
fafe ) 6
(b) Aninvestor has Rs. 30000 that he wants \to invest in bank
deposits, equity shares and Unit Trust. In view of the risks
involved in buying equity shares, he wants to invest an
amount equal to 20% of his total investment in bank deposits

and Unit Trust. Because of certain tax exemptions available

to him, he would like to maintain a 3:2 ratio between

investments in bank deposits and Unit Trust. Determine
the amount he would invest in each of the three forms of
investment using Matrix Algebra.

& favs & T 30,000 T ¥ R aw % 9,
T Y AR e g A e e ¥ 1 W S
N Tl § srafifea sl & g #, T T B
PRY % 20% B I S T ghve e | PRy &
e ¥ | HB B g, S 9 Suwed §, &y A I
¥ el ok gfve g @ Pawl & 3 ;2 ® S
T T TR $E R @ Faw § 78 R
R PR T, T HRT 6

3139 4

Or ()

(b) A transport company uses three types of trucks T, T, énd
T, to transport three types of vehicles V., V,and V.. The
carrying capacity of each truck in terms of three types of
vehicles is given below :

v, b v,

T, 1 3 2
o 2 2 3
T, 3 2 2

Using the matrix method, find :

() The number of trucks of each type that are required to
transport 85, 105, and 110 vehicles of V..V, and V,
type respectively.

(i) The number of vehicles of each type which can be

transported if the company has 10, 20 and 30 trucks of
each type respecﬁvely.

@WWWW%ETPTZWTB 3
Eﬁqmaﬁﬂ@ﬁv,,vzwv,wqﬁamwgl

Wﬁaﬁm%ﬂﬁm#ﬂ@ﬁ%m;ﬁ%a
LER '
vV, v, v,
T, 1 3 2
2 2 2 3
T, 3 2 2

3139
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(i) Use simplex method to find how many units of each
() 85, 105 T&T 110 WS, T V,, V, 3RV, yaw

product should be produced monthly in order to

A, o & < S T E R _ meepro
. (iii) Write the dual to the above problem and determine
S B ST B ? the optimum values of the dual variables from the
(i) AT FFN B I A TR D et A @I B o
10, 20 3R 30 ¥ T 6 TS SR & feat miear UF HRE@FT @ ST A, B 3R C % SqRT &
H IR W THAl 87 6 3 SR W A9 HAI: 3 B9, 4 B9 3 6 59T )
2. (a) A factory produces three different products A, B and C. kel Eﬁ? W ).(’ T SN I Sl
~ T | A et J, SRl W, @ A §9g A
The profit per unit of these products is Rs. 3j Rs.4 and Rs. for T
6 respectively. The products are processed in three Products
operations, viz., X, Y and Z and the time (in hours) required Operations A B C
in each operation for each unit are given below : : I;{ : ; f
Products A 1 2 3
Operations A B C FREN T XFE S RT3 afi E v& /i o Ll
X‘ 4 O g o z % forg R 1 9t &) a6 § 95 oy
Z 51 i ; m'm%,wﬁ?ﬁ?ﬂmﬁiﬁﬁ.ma@m%.
The factory has 3 machines for operation X, 2 machines lﬁ SIS e " ST
for operation Y and only one machine for Operatioﬁ Z. forelt ST & e, R s0% ¥
The factory works 25 days in a month, at the rate of 16 () W F O T i
hours 2 day in two shifts. The effective working of all the @ Rreaw R &1 v P % @y
Pprocesses is only 80 % due to power cuts or breakdown of FRFTHERCT & 7 ¥ T W e THEYY
machines, Wgﬁmmmmﬁql
. @ Formulate the problem mathematically. e

7
6

Io. -



(i) e wen @ ¥ ww R e wrefe
e A 3 90 & I I S| SN 12
Or (m)

(2) Givenbelow are the objective function, the constraints and
the final simplex tableau for a linear programming product-
mix problem :

Max Z=15x +12x,+ 1lx,

subject to the constraints :
3x, +4x, + 5x, <63 (hours, Deptt A)
4x, +x, + 4x, < 64 (hours, Deptt B)
x +ax, + ?.iss 40 (hours, Deptt C)

X X, X, 20

Final Simplex Table

Ci\Product| 15 12 11+ 0 0 o Quanﬁéy
Mix | x x, =x, S 8, S,

0 1 813 413 -3/13 0} 60/13 -
1 0 1/13 -1/13 4/13 0] 193/13

0 0 -i713-15/13 8113 1| 87/13

Z,

CFZJ

®©  Complete the table and test whether the solution is
optimal or not.

@  Write the optimal product mix and the profit
contribution shown by the above solution.

(i) s thig solution feasible? Give reasons.
3139 3139
8

(iv)
v)
(vi)

(vil)

(viii)

()

Does the problem have any alternative solution? If
s, show one such solution.

Indicate the shadow prices of three departments.
If the company wishes to expand the production
capacity, which of the three departments should be
given priority?

If the company produces thirteen units of x,, how
many units of x, and x, shall have to be reduced, if
any?

If a custemer is prepared to pay higher prices
for product x,, how much should the price be
increased so that the company’s profit remains
unchanged?

Indicate whether the solution given in the tadle is
degenerate. If yes, which variable is degenera-

ted?

uw aw ST oy e § egdvy v,
g e Afwm Reciew wita) B & o

Max Z=15x + 1Zx2+ 11x,

subject to the constraints :

3x, + 4x, + 5x, <63 (hours, Depft A)
4x, + x, + 4x, <64 (hours, Deptt B)
x, +4x, + 2x, < 40 (hours, Deptt C)
X,y Xy Xy 2 0

9 P.TO.
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s Rred are -

C, [Product | 15 12 1 0 0 0 Qum
Mix | x, X, X, s 5, S
0 1 813 4/13 -3/13 0] 60/13
{ 0 11713 -1/13 413 0] 193/13
0 0 -17/13-15/13 8113 1| 87/13
Z
62

@ |l @ U ST AR glwe #ite & e

TAq T A1 A |

@ T IO B qO Swed g 9 i @

Jiyem fafaa)

() 0 TE & T §? HRO G

(v) ¥ GHET 1 DS g v &) afy &, ar o

U% B9 feERy|

v) @ R & err g P Ak
(vi) R TR A SR & ST dredl & o

B fomr &t yrafemar & S SRe?

i) AR HR 2, F 13 At B ST Fd L @
x, T x, W Reel et @ e weh, A

FHEAT 93 E I

(vii) Hﬁmmx,mmwaﬁaﬁaﬂﬂ%
o SEHT e R ST Tifen R e @

T F =R T A7

10

(ix) 3 BTG T Aol § R e s 31 AR
#, A S WA §7 12

(b) A food company must produce 200 kg of a mixture

consisting of ingredients X and Y daily. X costs Rs. 3 per kg
and Y Rs. 8 per kg. No more than 80 kg of X can be used
and at least 60 kg of ¥ must be used. How much of each
ingredient should be used if the company wants to minimize
cost? Formulate the above as a linear programming problem
and solve graphically.

UF @ FE B X SR Y annit A Breer & wfdiee
200 kg HT SUTET HE AATIE & | X 6 AP 3 514
ufy Rt & @ar Y& 8 901 X & 80 kg / diftres
JART A& B Wl & AT Y H FT ¥ F 60 et v
BT TfeT | Wt & foadieer @ fong S amwiat
A Reeell A WYET ST AMRY? S9led F TS
Yoo ST T & W SO AR @
T fifer ¥ & Wi 6

Or (Wﬁ'l)

(b) A manufacturer produces three models of trekking bicycles,

Model A, Model B and Model C, whose selling prices per
unit are Rs. 6,000, Rs. 7,000 and Rs. 10,000 respectively.
The cost of the frame for Model A, Model B and Model C
is Rs. 3000, Rs. 4000 and Rs. 6,000 respectively. The

if PTO.
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capacity (bicycles per hour) of assembling, painting and

packaging of each model is as follows :

Capacity per hour

Machine Model A Model B Model C
Assembling 30 25 30
Painting 20 25 25
Packaging 50 .50 . 25

The manufacturer possesses only one of each type of
machine. Cost per hour to run each of the three machines
is Rs. 1500 for assembling, Rs. 2000 for painting and Rs.
2500 for packaging. Formulate LLP to maximize profit.

Do not solve.

T il 3 wfew & O itew, diew A, dte
B T HISH C, 1 & & @ &\ fnha e A
6000 TUY, 7000 YA T&T 10,000 FTX T S B B
1 T FHA: 3000 B, 4000 T qAT 6000 TG T |
mmaﬁmmaﬁ,ﬁnﬁa&wWﬂ
g (amsfee ufy wver) & wiy &

Capacity per hour

Machine Model 4 Model B Model C
Assembling 30 25 30
Painting 20 25 25
Packaging 50 50 25

12

ﬁﬁﬁ%wm%mm@mﬁ%lmﬁw
aﬁmmﬁmgﬁfw%lsoomﬁmm
N, 2000mm#mzsoomﬁmwm
aﬁaﬁm%ﬁlﬁmewaﬁmuwmﬁ#
AR T | | 6

3. (a) A machinery costs Rs. 12,000. The total cost of operation
from the time of purchase upto a time ¢ is given by the
function : 20¢ + 15¢. If the machinery is sold as scrap
after ¢ years, the resale value is given by the function
6880 — 6072. Find the optimal time for replacement of the
machine.

T TR T T 12,000 T T | HT & T § WO
¢ U T PRI B GE AN God 207+ 150 |
& o ¥ 13l ¢ o uvE AL @ s § S o

% i Sue! (ARET T e 6880 - 607 ¥ fm s
3| ol & See & SgERen o e 6
Or ()

(a) Amonopolist has a demand curvex =219 -3p and average

X i i kg and
~o = ere p is the price per kg
cost curve AC=28+ (75) Whetep

is the number of kg of output. Determine the output at
x is

hich the maximum profit can be earned.
W

P.T.O.
13
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TH TEHRE B AT A x =219 3p ¥ R sy

?«TFIHAC=8+(7—xS) 8, W p 770 W R ey,

SR T A R F | 98 Sae el R

W AT A BAL ST | 6

(b) The demand functions for two commodities X and x,

in terms of their respective prices p, and P, are given
by:

X = pl““l eb|P2+Cl Xy = pz"“z ebzP1+Cz

wherea, b, ¢, a,, b, and c, are constants. Find the four

-

partial marginal demand functions and determine whether |

the commodities are competitive or complementary.

& TG x, T 2, AT GO AT S e p, A

p,% W H fr ¥

-a + - +
X =p 1 P2t @ gh2P1te:

X2 =Py

Wl a,, b, c, M a,, by, ¢, IR T TR AR G
AT 6 P o s i R aegd wRErd €
Rl cc | 6

Or (\'ﬂ‘ﬁT)

(b) A firm manufactures two types of machines x and y- Th®

3139

cost function of the firm is given by C(x, y)=x>—xy+ .

If a total of eight machines are to be produced, how many
machines of each type should be produced, so that cost of

production is minimized. [Use Lagrange’s multiplier]
14

Teh ®H x Ty, & THR 3 AT 61 IeareT o @ o |
EH H AR BT & Cx, y) = 2 — xp + 2~ ARG FA
TS AT T AT HET & aF G JbR B il
et Wi SR el el R S AT
Frem @7 (i e & wE X)) 6

(c) A monopolist firm produces commodities of two types x,

and x, at constant average cost of Rs. 2.50 and Rs. 3.00
per item respectively. If p, and p, are the prices charged
and the market demands aré x,=5(p,-p,)and x,=32 +
5p, — 10p,, find the prices of the two commodities for

maximum joint monopoly profit.

T THRH & 2.50 TI9 3R 3 59 9fy za1d &y

T AT A WA TGS x, IR x, & IdAET

mﬁr%luﬁpleimp,aﬂ%a@%wwﬁwxl

=5(p,-p) T x,=32+5p — 10p, ¥, A sferwam

HgF TR @ % ol S aegel @ aer s

R | 6
Or ()

(c) For the production function ¢ = AL®KP®, show that the

3139

isoquants generated are always pegatively sloped and
convex to the origin. ;

IAET O ¢ = ALK? & 8 Rany f5 oo
isoqmntsmﬁ“ﬁmmﬁﬁﬂﬂﬁaﬁaﬁ(mm
T - 6

05 P.T.O.



4. (a) ABC Ltd. has approximated the Marginal \Revenue
functions for one of its pfoducts by MR =20x — 222, the
marginal cost function is approximated by MC =81 — 1,

+ x2. Determine the profit maximizing output and the tota]

profit at the optimum output, assuming fixed cost as zerg,

ABC foio I 319« T SE & [T W T9TET W |

MR = 20x — 2x* ST & T WAT AT GG MC =

81~ 16+ ST ¥1 Rer w0 o A g
SEH T ARG IIAET T AT IR
WWWWI 63

Or (wra)

(a) Under pure competition fora commedity, the demand and |

supply laws are :

__8
Pd—m-Z and p, =%(x+3)

Tespectively. Determine the consumer’s surplus and |

product’s surplys,

Wﬂ?%ﬁwmﬁwwﬁwﬁﬁm
B ¥

Dj=—

x+1 72 T p, =%(x+3)

where x is number of units produced, determine the tota]
revenue from the sale of 100 units of the product.
T T% IAR FH MR G & MR =3 + 005 g 4
ST 31T A GG & A IATT F 100 FEA T
Rt @ g o a1 Pt 6
Or (v
(b) Find the elasticity of substitution for the production

function :

02 087"
Q=[-f+r] .

fr SqET AT & (o Yfaees & @ S

-1
_[02, 08
5. Attempt any three of the following : ‘
et & sl @R @ I 5x3

(a) According to the will of a man, his life insurance of Rs.
50000 should be deposited in a bank soon after his death,
The bank has to pay Rs. 8000 annually to his heir. If the
interest is 5% p.a. compounded continuously, how many
annual payments could be made?

o5 17 PTO.



w | B TTd & AIAR, S TG F uyEn
Sad e ST B 50,000 TIY IJ&D S § I B ¥
3% ) 3ai ¥ 8,000 T AR Iqh IS &)
¥ R o 5% Tt THIfE AR B9 ¥, o
Rt itk Rt & o W B2

() A debt of Rs. 5,00,000 due 5 years from now and Rs. |

5,00,000 due 10 years from now is to be repaid by a payment
of Rs. 2,00,000 in two years and a payment of Rs. 4,00,000
in 4 years and a final payment at the end of 6 years. If the
rate of interest is 7% p.a. compounded annually, how much
is the final payment?
5,00,000 $o HT TEH F 5 a8 Ygam 3 & adl
5,00,000 TYY HT FOT 10 T YA 3 & | SAHT A
2 I TFET 2,00,000 T, 4 T§ G 4,00,000 T
T 6 I TYE AW @ T ¥ | AR YR TS
7% WA T8 T q v e e @i
(c) Mr. X purchased a house for Rs. 30,00,000. He agrees t°

pay for the house in 6 equal instalments in the beginning of
each year. If money is worth 6% p.a. effective, what would

be the size of each instalment?

18

xarqasmso,oo,ooomﬁ@'&magwm
& YA 6 T (e § 5% avf & g F B &
geud o1 AR T g 6% Wiy % www 2, at
g fhe foae arft?

(d) A bond with a face value of Rs. 5000 matures at par in 12

years. The nominal rate of interest on bond is 12% p.a.
annually. What should be the price of the bond so as to

yield an effective rate of return equal to 8% p.a.?

| 5,ooosqﬁafaamwaﬂa‘fvgl2aﬁfﬁ“qﬁqaaém

(e)

3139

3| §ifvg W T & T B K 12% RS ¢ 1 TS
& @ O Jfed el 98 ad A 8% @
TAE & A F D ?

A machine costs a company Rs. 5,20,000 and its effective
life is estimated to be 12 years. A fund is created for
replacing the machine by a new model at the end of its life
time, when its scrap realizes a sum of Rs. 50000 only. The
price of new model is estimated to be 25% higher than the
price of the present one. Find what amount should be set

aside at the end of each year, out of the profit, if it

accumulates at 7% effective.

19
P.T.O.
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U FO S T A H AT 5,20,000 B9 g
T qEn SEET YHET SfEaq 12 aW g &1 o6
e FI F IR I AT H T € 00T { 2o
% frd o PR & gor R ot ¥ weie @ s
7o R 50,000 TUA ¥ | 7 wiew & g adwE A
¥ 25% e O F A 1 AR q® 7% W w
¥ T ¥ I D B @ F A P ol wRy
¥ o P @ S =R
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fewuit.— 59 Fv997 & IW FO W 7= B ww
19T 7 e éﬁ?mﬂmwmwwqgg?
g e
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1. (a) State True/False with reasons:

FRur gfgd T/ faf@w

(i) Third generation computers were based on
transistors.

T @t & F TR W amefa 31
(ii) Muitiprocessing operating system may run on
the system having two or more processors.

QA AW W AfYE MAW el Jomet W
TR AR fey 9a 91 2

(iii) A network is interconnection of computers
that enables the users to share network
resources.

Emwmﬁmaﬁw’rméﬁr
3TN & 39 Aad & WIGAT 6 3UET
A ¥ YW ST © |

(iv) A derived attribute is directly stored in the
table.

O fadiwar 9@ & @Y dufed #t S
%I 4

(b) Choose appropriate words to fill in the blanks:

R St ) ey 3 ford v W AFTT

(i) Operating system s

(a system / an
application) software.

---------

- “A tree topology connects a nu

3
3140

(ii) Hard drive. is a .. (primary/secondary)
storage device.
BE ST TF ... e (AT fiiteras)
RIS feamgq 3 |

(i) In a ... (ring/star) topology all the

computers are connected to each other
through a central network hub.

e (R/RR) A0S & Wt Frex
TG ¥ T FAT Ieas &9 g7 92 2
l 3

2. How do the different functional components of a

computer system interact with each other for data

processing?

TRI NHET & f6d & s wnelt & fafi

FAHF TeH F8 THR TH-TR ¥ Nudt fFn w

27 6
Or (319d)

How is an application software different from a system
software?

ey wivedm Teliey ARIm ¥ R S&R =
B 2 | :

mber of star networks

through a central cable.” Do you agree? Explain

advantages and disadvantages of tree topology.

P.T.O.
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4

g AR T FF Faw F A W FE ww

Yeqds &1 Sliear 2 17 1 A9 WeAd 7 7 g4 rarersi

& 9-gIf 9IS | 6
Or (A9d)

Compare client-server computing architecture with
peer-to-peer computing architecture.

peer-to-peer computing architecture & @Y client-
server computing architecture @l el HIf | 6

What do"you mean by a database system? How is it
different from traditional file system? |

TR YUelt ¥ MY T GO ¢ 7 IREiE wEd
yorreht @ a8 H9 fa= 22 . 6

Or (Agan) .
Explain the following types of relationship wth
example: |

(a) One-to-one

(b) One-to-many

(c¢) Many-to-many.

ﬁwmﬁ#ﬁwﬁf@amaﬁm
A —

(a) THU-TH (One-to-one)
(b) TH-H-31F (One-to-many)
(c) IFH-Y-3F (Many-to-many). 6

8400
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